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2009 (June) Unit H  Religion and Contemporary Society 
 
Example of Candidate’s Work from the Examination 
 
Candidate A 
 

1 (a) Examine the relative strengths and distribution of the main religious groups to be 
found in the United Kingdom today. 

   (30 marks) AO1
   
  Candidate Response 
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Commentary 
 
AO1 (30 marks) 
 
This answer begins appropriately with a reference to the 2001 census.  Although the figures here are not 
quite accurate, the ‘big picture’ given sets the scene appropriately for the rest of the answer.  The question 
asked for strengths and distribution.  The second paragraph makes clear reference to relative strengths, 
and goes on to give a clear and appropriate picture of the distribution of some of the different religions.  
The answer goes on to talk about the rise in the number of Muslims and the decline in Christianity, and 
gives a balanced view.  At the top of page 3 there is reference to aspects of belief.  Although this is not 
strictly relevant here, the candidate incorporates this well into the answer.  S/he then goes on to look at 
other aspects of practice in modern Britain.  The points made in the last section of the answer slightly lose 
focus on the question, but the first part of the answer is very well focussed and clear.  
 
The L6 descriptor states: 
‘A fairly thorough treatment within the time available; information is mostly accurate and relevant. 
Understanding is demonstrated through the use of appropriate evidence/examples’ 
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The L7 descriptor states: 
‘A thorough treatment of the topic within the time available, information is accurate and relevant, and good 
understanding is demonstrated through use of appropriate evidence/examples’ 
 
The answer was awarded a top L6 mark.  Had the focus been maintained throughout, this would certainly 
have been worthy of Level 7. 

Level 6 (27 marks)
 

 (b) ‘Religion in the United Kingdom today is alive and well.’ Assess this claim 
   (15 marks) AO2
  Candidate Response 
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Commentary 
 
AO2 (15 marks) 
 
This answer shows some relevant awareness but is not well focussed on the question.  It reads almost as 
a ‘prepared answer’ to a slightly different question.  If this candidate had planned his/her answer slightly 
more carefully some of the material which was included in part (a) might have been better in part (b), but 
no ‘cross- credit’ can be given. 
 
The answer is rather formulaic.  It starts with ‘people would disagree because....’ and gives further 
statistical material, but this is not really used as evidence.  The second paragraph again has potential in 
referring to ways in which people are distanced from religion through science or through ignorance, but this 
is not used well to develop an argument. 
 
The counter argument is presented in the formulaic way ‘people would agree because...’  This does not 
always suggest a good process of reasoning.  The ‘throwaway comment ‘millions and billions of people’ 
could be a slip of the pen, and was certainly not penalised.  The reference to the Jedi Knights however, 
suggests a lack of understanding of this point (arising from a campaign at the time of the 2001 census). 
 
The Level 5 descriptor for AO2 reads:  
‘A partially successful attempt to sustain a reasoned argument.  Some attempt at analysis or comment and 
recognition of more than one point of view.  Ideas adequately explained.’ 
 
The Level 4 descriptor reads: 
‘A limited attempt to sustain an argument which may be one sided, or show little ability to see more than 
one point of view. Most ideas are explained. 
 
Although this answer did give more than one point of view, it lacked clear focus, and there was little real 
reasoning. For this reason it was awarded a L4 mark of 8. 

Level 4 (8 marks)

 
 
 
 
 
 
 
 




